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Section 1 – Areas of good performance (question no/syllabus topic or reference) 
 
Syllabus section: 2.2 Was generally well done. The essential point in syllabus section 2.3 that 
many candidates failed to realise was that optical fibres are insulators and hence carry no current 
and thus cannot be subject to crosstalk. 
 
Syllabus section: 3.4, 3.5, 3.6 Most candidates answered this question well, although in many 
cases QAM could have benefited from some more detail. 
 
Syllabus section: 2.5 Many candidates muddled up refraction with reflection! The answers to 
syllabus section 3.12 could have done with more detail. The main benefits of PCM , required for 
section 5.28, are given in the syllabus which too many candidates appear not to have seen. 
 
Syllabus section: 4.3, Again, detail was lacking for both parts of this section. In section 4.4, it is not 
good enough to mention repeaters. Candidates must explain the action of the repeater. 
 
Syllabus section: 6.14, Candidates were really divided on this question. Some appeared never to 
have heard of DTMF keypad, others provided excellent answers, many of which gained full marks. 
 
Syllabus section: 6.14, 6.25, 6.21, 6.24 Far too many candidates could not correctly define the 
Earlang in 6.14, or give an explanation on it required for section 6.25. Candidates who were well 
prepared easily performed the calculations required for 6.21 and 6.24. 
 
 
Section 2 – Areas for development (question no/syllabus topic or reference) 
 
Syllabus section: 1.1, 1.11 Too many candidates could not correctly define regulation for section 
1.1 and thus could not get the correct answer for the calculation of section 1.1. Section 1.11 was a 
prime example of candidates not reading the question correctly. The answer required a d.c motor 
mechanically coupled to an a.c generator. 
 
Syllabus section: 5.27 Some sailed through parts of 5.27; others were completely lost. No 
candidate adequately answered part c. Unit A must be a bandpass fitter restricting both upper and 
lower frequencies to (300-3400)Hz. Unit E needs only a lowpass filter to effect demodulation, 
separating wanted from unwanted frequencies. 
 
Syllabus section: 5.2, Few candidates could manage decent diagrams to illustrate PWM and PPM. 
As the highest frequency in the spectrum given was 9kHz, the wave can be completely 
reconstructed by taking a minimum number of samples at twice this frequency, that is at 18000 
samples/second. 
 
Syllabus section: 4.12, 6.34, The greater difficulties encountered in demultiplexing (compared with 
multiplexing) for section 4.12 centre around synchormisation which many candidates failed to 
realise. Candidates generally were hazy about the components of the access network required for 
section 6.34. 
 
 
 
Section 3 – Tips 



Always read the question carefully, especially where a description or explanation is required. 
Ensure that answers do not simply repeat the question wording only. 
 
 
Section 4 - Additional comments 

 
I repeat my comments of last year that some centres had far too many candidates who were ill-
prepared for this examination. Again, it is not the first time that I have had to say that candidates 
must note the marks allocated for a part of a question and thus the corresponding amount of work 
that must go into the answer. Too many candidates draw diagrams and make statements that are 
irrelevant to the question.  
 

 


